IECSRGBuUS8 triangle lightnesst*
t* Ync_YW nc_loox
*1EcsroBUE=50 (Y/Y) Y- 6(Y,=18, ¥,/1002Y<=Y,)
t*(3,6)=18,t* ,(18)=50,t*\,(90)=137

logt*/t* J=0, m,=0,62
 Joglt/tJ=0. mz062_ o2

* =49, =

application
range

1
1Y,=18

ko

IECSRGBu8
tristimulus value difference

Yoc=Yw - nc=100,
t*1EcsraBus=50 (YY) M1 6(Y,=18, Y, /100<Y<=Y,0)
log(dY) = (1/1,6) 10g[L,6¢,/50)] + [1~(1/1,6)] log¥)

y B
“

application
. range
1Y,=18 00y
"Y=90

log (AY/Y) IECSRGBuUS
_ tristimulus value sensitivity
SOV Yoc=Yw - nc=100,
t*1EcsraBus=50 (YY) M1 6(Y,=18, ¥, /100<Y<=Y,0)
log(dY/Y)= log[1,6(Y,/50)] - (1/1,6) log{/Y,)
= (1/1,6) log[1,6¢,/50)] - (1/1,6) logy)

application

0,177 1'%,
.l

* =50, dY,=3,20 dY,/Y,~

1v,=18
1 Yu=90

IECSRGBu8
tristimulus value contrast

Yoc=Yw - nc=100,

t*1EcsraBus=50 (YY) M E(Y,=18, Y, /100<Y<=Y,0)

log(Y/dY)=  log[1,6(/,/50)] + (1/1,6) log¥/Y,)

= - (1/1,6) log[1,6Y,/50)] + (1/1,6)JogY)
.

t*,=50, dY,=3,20 Y,/dY,-5 &
log(Y/dY)=0,75 m,=0.FZ  _Je°
> | >
>

log (Y/AY)
C,=(Y/AY)

application
range

Y,=18
Yw=90

Yn=3.6

IECSRGBUS relative triangle lightnesst*/t*,
t/t* u Ync‘YW nc_loox

t*1EcsreBus=50 (Y/Yy) "1 6(Y,=18, Y,/ 100<Y<=Y, o)
t*n(3,6)=18,t*,(18)=50,t*,,(90)=137

log[t*/t* ;]=0, m,=0,62

Yn=3.6  Yyw=90

IECSRGBuUS relative
tristimulus value difference

Yoc=Yw  -nc=100,
t*1EcsraBu=50 (Y/Y) U O(Y,=18, Y,/ 100<Y<=Y, )
log(dY/dY,) = [1-(1/1.6)] loglf/Y,)

log(A Y/AY W)
AYIAY,

log [(AY/Y) I (AYIY)] IECSRGBUS relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,
t*1EcsroBus=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, o)
logI(dYMN)/(AY/Y),] = - (1/1,6) log/Y,)

application

log[(dY/Y)(dY/Y),]=0, m,=-0,2?

1
< ’ 4
*,=50, dY,=3,20 dY,/Y,=0,1;77 }
1

4

Y,=18
Y=90

Yn=3.6
log [(Y/AY) I (YIAY),] IECSRGBUS relative
tistimulus value contrast
CrlCry=(YIAV)(YIAY)y v 2y ™ 2100,

nc—
t*1EcsreBus=50 (Y/Yy) 1 6(Y,=18, ¥,/ 100<Y<=Y, o)
logI(Y/dY)/(Y/dY),] = (1/1,6) loglY/Y,)

application
range

YN=3.6  Yw=90




